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Climate Change said that urgent
change is needed to keep global
warming to a maximum of 1.5C.

The Paris climate agreement
had seen countries agree to

keep a rise between 1.5C and 2C.
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“‘If we act
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invest wisely we
could avoid the
worst aspects of
climate change’
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At 1. 5C the proportwn of the global population exposed to
water stress could be 50% lower

Food scarcity would be less of a problem and hundreds of millions
fewer people, particularly in poor countries, would be at risk of
climate-related poverty.

At 2C extremely hot davs, such as those experienced in the
northern hemisphere this summer would become more severe
and common, increasing heat-related deaths and causing more
forest fires (see Hell Fire, page 34).
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At the current rate of warming, the world ison
course for a 3C rise with annual CO2 emissions by
2030 likelv tobe 54- 36 gigatonnes
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